

1661 Frontera Rd, Del Rio, TX, 78840 PHONE: 800-424-0422 FAX: 833-930-1124

WQ-10320573

Sell To:

Email

Phone

Contact Name Rebecca Bright Ship To Name City of Killeen

City of Killeen 2003 Little Nolan Rd Bill To Name Ship To

(Closed on Wednesdays - no deliveries) Bill To PO Box 1329

Killeen, TX 76542-2764

USA

Quick Ship rbright@killeentexas.gov

Quote Information

USA

Killeen, TX 76540-1329

(254) 526-2696

Salesperson Chance Hennig **Expiration Date** 8/23/2024

Salesperson Email chennig@wastequip.com **Quote Number** WQ-10320573 Please Reference Quote Number on all

Salesperson Phone (361) 362-4485

Purchase Orders

Product	Product Description	Selected Option	Quantity	Sales Price	Total Price
**Plastics - 79296	Model 79296 - Toter 96 Gallon EVR II Universal/Nestable Cart	Body Color - (968) GreenstoneLid Color - (200) BlackBody Hot Stamp on Both Sides (Existing) in WhiteWheels - 10in SunburstLid Insert - Read from Street (Existing)Customer Serial Number Hot Stamped on Front of Cart Body in White2/3 Assembled with Lid (down), Stop Bar and Axle Factory InstalledWarranty - 12 Yrs Cart Body, All other components 10 Yrs	6,500.00	\$51.25	\$333,125.00

Subtotal \$333,125.00 Payment Terms Net 30 Days if credit has been established

Shipping \$12,393.00 Shipping Terms FOB Origin

> Tax \$0.00

Grand Total \$345,518.00

Additional Information

Additional Terms

Our Quote serves as an offer to provide Products and/or services at the quantities and prices shown and is a good faith estimate, based on our understanding of your needs. By signing below, you indicate your acceptance of our offer which is expressly subject to the Wastequip Terms & Conditions of Sale ("Wastequip's Terms"") located at: https://www.wastequip.com/terms-conditions-sale, as of the date set forth in Section 1(b) of the WQ T&C, which are made



1661 Frontera Rd, Del Rio, TX, 78840 PHONE: 800-424-0422 FAX: 833-930-1124

WQ-10320573

a part of this Quote. Wastequip's Terms may be updated from time to time and are available by hard copy upon request. Any changes or deviations to the terms of this Quote, including any different terms in an Order submitted by you, must be agreed upon in writing by both parties.

Additional Information

Pricing is based on your acceptance prior to the expiration of this Quote, including product specifications, quantities, and timing. Any differences to your Order may result in different pricing, freight or other costs. Due to volatility in petrochemical, steel and related Product material markets, actual prices and freight, are subject to change. We reserve the right, by providing notice to you at any time before beginning Product manufacturing, to increase the price of the Product(s) to reflect any increase in the cost to us which is due to any factor beyond our control (such as, without limitation, any increase in the costs of labor, materials, or other costs of manufacture or supply). Unless otherwise stated, materials and container sizes indicated on sales literature, invoices, price lists, quotations and delivery tickets are nominal sizes and representations – actual volume, Products and materials are subject to manufacturing and commercial variation and Wastequip's practices, and may vary from nominal sizes and materials. All prices are in US dollars; this Quote may not include all applicable taxes, brokerage fees or duties. If customer is not tax exempt, final tax calculations are subject to change.

Special Contract Information

Sourcewell – Pricing and Products/Services offerings are based on the Sourcewell Co-Operative Contract with Toter, LLC (#041521, eff. 5/25/2021), and such Contract terms and conditions are incorporated herein by reference. Pricing and Products/Services changes may occur at any time with proper documentation, and subject to Sourcewell approval; therefore, offerings may change without written prior notice. Wastequip Product Limited Warranties, Disclaimers, Limitation of Liability and Remedies, and Limited Warranty Provisions apply to all purchases thereunder.

Signatures	
Accepted By:	
Company Name:	
Date:	
Purchase Order:	

Please Reference Quote Number on all Purchase Orders





8521 FM 850, Tyler, TX, 75705

PHONE: 903-405-4475

WQ-10320574

Sell To:			
Contact Name	Rebecca Bright	Ship To Name	City of Killeen
Bill To Name	City of Killeen	Ship To	2003 Little Nolan Rd
Bill To	PO Box 1329 Killeen, TX 76540-1329 USA		(Closed on Wednesdays - no deliveries) Killeen, TX 76542-2764 USA
Email	rbright@killeentexas.gov	Quick Ship	

Quote Information

(254) 526-2696

Phone

SalespersonChance HennigExpiration Date9/6/2024Salesperson Emailchennig@wastequip.comQuote NumberWQ-10320574

Salesperson Phone (361) 362-4485 Please Reference Quote Number on all

Purchase Orders

Product	Product Description	Quantity	Sales Price	Total Price
Container - TT - 125541	2 Cubic Yard Standard Duty Slant Front Load Container - Floor: 10 gauge, Walls: 12 gauge, Pockets: Heavy Duty withThree Way Fork Entry Guide, Top Channels: Interlocking, Primed and Painted Any Standard Color	20.00	\$502.00	\$10,040.00
Container - TT - 125543	3 Cubic Yard Standard Duty Slant Nestable Front Load Container - Floor: 10 gauge, Walls: 12 gauge, Pockets: Heavy Duty with Three Way Fork Entry Guide, Top Channels: Interlocking, Bottom Runners: 2 1/2" Tall Formed, Primed and Painted Any Standard Color	20.00	\$604.00	\$12,080.00
Container - TT - 125544	4 Cubic Yard Standard Duty Slant Front Load Container - Floor: 10 gauge, Walls: 12 gauge, Pockets: Heavy Duty with Three Way Fork Entry Guide, Top Channels: Interlocking, Bottom Runners: 2 1/2" Tall Formed, Primed and Painted Any Standard Color	20.00	\$680.00	\$13,600.00
Container - TT - 125534	6 Cubic Yard Standard Duty Slant Front Load Container - Floor: 10 gauge, Walls: 12 gauge, Pockets: Heavy Duty with Three Way Fork Entry Guide, Interlocking Top Channels with formed 10 gauge Bottom Runners, Primed and Painted Any Standard Color	30.00	\$877.00	\$26,310.00
Container - FL - 125539	8 Cubic Yard Standard Duty Hatchback Front Load Container - Floor: 10 gauge, Walls: 12 gauge with Horizontal V-Crimps for Added Strength, Doors: (2) 30"x 30" Sliding, Pockets: Heavy Duty with Three Way Fork Entry Guide, Top Channels: Interlocking, Bottom Runners: 2 1/2" Tall Formed, Primed and Painted Any Standard Color	40.00	\$1,087.00	\$43,480.00
Container - TT - 125535	8 Cubic Yard Standard Duty Slant Front Load Container - Floor: 10 gauge, Walls: 12 gauge, Pockets: Heavy Duty with Three Way Fork Entry Guide, Interlocking Top Channels with formed 10 gauge Bottom Runners, Primed and Painted Any Standard Color	10.00	\$1,034.00	\$10,340.00
Container - TT - 159897T	20 Cubic Yard Standard Duty Bathtub Roll Off Container 22' Long - Floor: 7 gauge with 3" structural channels on 18" centers and 6"x 2"x 3/16" Structural Tubing Main Rails, Walls: 10 gauge with 4" x 3" x 3/16" Top Rails, Primed and Painted any Standard Color	8.00	\$4,774.00	\$38,192.00
Container	30 Cubic Yard Standard Duty Bathtub Roll Off Container 22' Long - Floor: 7 gauge with 3"			





8521 FM 850, Tyler, TX, 75705

PHONE: 903-405-4475

WQ-10320574

- TT -	structural channels on 18" centers and 6"x 2"x 3/16" Structural Tubing Main Rails, Walls: 10	8.00	\$5,258.00	\$42,064.00
159899T	gauge with 4" x 3" x 3/16" Top Rails, Primed and Painted any Standard Color			

Payment Terms

Net 30 Days if credit has been established

Shipping Terms FOB Origin

Subtotal Shipping \$196,106.00

\$6,000.00

Tax \$0.00

Grand Total \$202,106.00

Additional Information

Additional Terms

Our Quote serves as an offer to provide Products and/or services at the quantities and prices shown and is a good faith estimate, based on our understanding of your needs. By signing below, you indicate your acceptance of our offer which is expressly subject to the Wastequip Terms & Conditions of Sale ("Wastequip's Terms"") located at: https://www.wastequip.com/terms-conditions-sale, as of the date set forth in Section 1(b) of the WQ T&C, which are made a part of this Quote. Wastequip's Terms may be updated from time to time and are available by hard copy upon request. Any changes or deviations to the terms of this Quote, including any different terms in an Order submitted by you, must be agreed upon in writing by both parties.

Additional Information

Pricing is based on your anticipated Order prior to the expiration of this Quote, including product specifications, quantities and timing. Any differences to your Order may result in different pricing, freight or other costs. Due to volatility in petrochemical, steel and related Product material markets, actual prices and freight, are subject to change. We reserve the right, by providing notice to you at any time before beginning Product manufacturing, to increase the price of the Product(s) to reflect any increase in the cost to us which is due to any factor beyond our control (such as, without limitation, any increase in the costs of labor, materials, or other costs of manufacture or supply). Unless otherwise stated, materials and container sizes indicated on sales literature, invoices, price lists, quotations and delivery tickets are nominal sizes and representations – actual volume, Products and materials are subject to manufacturing and commercial variation and Wastequip's practices, and may vary from nominal sizes and materials. All prices are in US dollars; this Quote may not include all applicable taxes, brokerage fees or duties. If customer is not tax exempt, final tax calculations are subject to change.

Special Contract Information Sourcewell-Pricing & Product offerings are based on the Sourcewell Co-Operative Contract with Wastequip, LLC (#040621-WQI, eff. 06/02/2021) and such Contract terms & conditions are incorporated herein by reference. Pricing & Product (& related) changes may occur at any time with proper documentation, & subject to Sourcewell approval; therefore, offerings may change without written prior notice. Wastequip Product Limited Warranties, Disclaimers, Limitation of Liability & Remedies, & Limited Warranty Provisions apply to all purchases thereunder.

Signatures		
Accepted By:		
Company Name:		
Date:		
Purchase Order:		
Please Reference	e Quote Number on all Purchase Orders	

Box Gang Manufacturing LLC

16736 E Hardy Houston, TX 77032 US +17137425555 info@boxgangmfg.com www.boxgangmfg.com



Estimate

ADDRESS Thomas Everett City of Killeen, TX 2003 Little Nolan Rd Killeen, Tx 76542 SHIP TO
Thomas Everett
City of Killeen, TX
2003 Little Nolan Rd
Killeen, Tx 76542

ESTIMATE # 10386

DATE 08/06/2024

EXPIRATION DATE 09/05/2024

SALESPERSON

Tiffany Raye

DESCRIPTION	QTY	Y RATE	AMOUNT
ROL-TOT2242 20 Yard Tub Opentop Roll-Off - One Piece 3/16" Floor - 10 Gauge Sides, Front &Door - 6"x 2"x3/16" Main Rails - Crossmembers on 18" Centers - 3"x 4"x 3/16 Top Tube - Primed & Painted Any Std Color 22' L x 90"W x 40"H SOURCEWELL ITEM	6	6 4,808.00	28,848.00
ROL-OPTION 1/4" FLOOR OPEN MARKET	6	525.00	3,150.00
ROL-TOT2260 30 Yard Tub Opentop Roll-Off - One Piece 3/16" Floor - 10 Gauge Sides, Front &Door - 6"x 2"x3/16" Main Rails - Crossmembers on 18" Centers - 3"x 4"x 3/16 Top Tube - Primed & Painted Any Std Color 22' L x 90" W x 60" H SOURCEWELL ITEM	6	5,210.00	31,260.00
ROL-OPTION 1/4" FLOOR OPEN MARKET	6	525.00	3,150.00
Estimated freight \$1200 per truckload. All freight must be confirmed at time of shipping due to volatility.	SUBTOTAL TAX		66,408.00 0.00

Full load: 20yd tubs - 8 per load 30yd tubs - 7 per load SHIPPING TOTAL

Accepted Date

2,400.00 **\$68,808.00**

Accepted By